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Working hard during the course is a necessary condition for doing well at the exam. It is
unlikely that you will get a good grade if you did not read the required readings in a timely
manner and if you did not think about the philosophical issues raised by them. However,
working hard during the course is not a sufficient condition for doing well at the exams. It
sometimes happens that students that work hard during the course have
nevertheless a poor performance at the exams, and therefore get low grades. This is
often because they fail to understand the exam questions and the criteria of evaluation.
The present document is intended to help you avoid this problem.

We will proceed as follows: we will first discuss the issues at a relatively abstract level.
Then we will look at the particular exam that students from the group A took in the course
2011-12, and finally we will discuss some of the answers that students from this class
gave. Let's get started...

*k*

| usually make two kinds of questions. Questions of the first kind have the following
form:

-Explain briefly and with your own words the contents of the following text. You
may make reference to ideas of the author that do not feature in the text (or to
ideas of other authors) provided that those ideas are relevant for explaining
what the author is saying in this text.

There are three points that you should keep in mind when answering questions of this first
sort:

1. You are being asked to explain what an author is saying in a short passage. Typically,
it will be a passage that is not self-contained. That is to say, it will be a passage that you
will be able to understand properly only if you know the context from which it is taken,
and only if you are familiar with the philosophical problem discussed. That means that
in order to make clear to your readers what the text is saying, you may have to
provide them with that context. That is to say, you will have to explain some ideas
that are not explicitly stated in the passage but which are necessary to understand it.

2. However, it is very important that you select the information that is relevant. Do
not attempt to write everything you know about the author, or about the topic. | do not
want a general explanation of the whole of the author's philosophy. That will make your
grade go down, even if what you say is a nice, correct description of the author's
thought. You have to show me that you understand the passage | give you by being
selective about what really matters for understanding it.

3. It is also very important that you make an effort to explain what the author says with
your own words. Do not just repeat what the author is saying with his or her words.
Try to give your own examples to make the reader understand the author's point.
Make as if your reader does not know anything about the topic, and try not to take
anything for granted. It may be useful to make as if you are explaining the topic to a
friend or relative.
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Let us now turn to questions of the second sort. These will have the following form:

-Do you agree or disagree with the following claim? Justify your answer.

With respect to this kind of questions, there are four points that you have to keep in mind:

1. State your position right at the beginning. Either if you agree or not (or even if you
are undecided), say it clearly as the first step of your answer. Then, it is important that
rest of your answer be coherent with your initial statement.

2. Sometimes (but not always) both positions are equally defensible. These are not
“true/false” questions in which there is only one correct answer. When | evaluate your
answer, | do not care much whether you said “yes, | agree” or “no, | do not agree”. What
| care about is how well you argue for your position. The fact that sometimes there is
no just one right position to take has to do with the nature of philosophy. As you will see,
most interesting philosophical questions are open questions, questions about which you
will find two or more interesting and reasonable but opposed theories. (That does not
mean that both theories are true, or that there is no truth in philosophy. It is just that it is
hard to know which theory is true).

3. Give good arguments for your position. You have to convince your reader that
your position about the claim in question is right. Make as if your readers held a different
opinion. What could you say in order to convince them? Make an effort at showing that
your position is right. Try to think what reasons your readers could have for holding an
opinion different from yours, and show them that those reasons are wrong. Give them
examples that help to make your points more convincing. In arguing for your position,
you may have to take into account theories and arguments discussed in the
course. Suppose, for instance, that the claim in question is “all of our actions are
completely determined by factors outside our control”, and suppose that you start by
saying “No, | do not agree!”. Then, as part of your argument, you will have to say
something about why you think Hume was wrong in believing otherwise. After all, Hume
is one of the philosophers studied in the course who addressed this topic. So if you are
defending a position at odds with his, you have to say something about why you think
he was wrong. The better you can counter-argue against the opposite camp, the
stronger your position will be.

4. You are being asked whether you agree or not with a particular claim, and then give
your reasons for your position. Read carefully the claim in question. It may have the
form “according to author X, blah” or simply “blah”. The difference between these
two sorts of claims is very important. Consider, for instance, the following two questions:

(1) Do you agree or disagree with the following claim? Justify your answer.
My decision to take this course was completely determined by factors outside
my control.

(2) Do you agree or disagree with the following claim? Justify your answer.
Hume would have said that my decision to take this course was completely
determined by factors outside my control.



In both cases, you have to argue for your position. The form of the question is very
similar, but the content is different. Question (1) is mainly about free will, and question
(2) is about Hume's views on free will. In answering question (1) you have to tell me
your reasons for taking a side on the claim, and in so doing you may indeed mention
Hume (see previous point). But in answering question (2) you must mention Hume. A
good answer to question (2) could be something like this:

“Yes, | agree. Hume argues for determinism, the view that blah blah... According to this

view, my decision blah blah... So, in conclusion, Hume would say that blah blah....”.
On the other side, a good answer to question (1) could be something like this:

“Yes, | agree. | do so because | think determinism is true, and it follows from
determinism that my decision was blah blah. | think that determinism is true because |
find very convincing the argument for determinism offered by Hume. According to this
argument.... blah blah blah. However, it may seem that determinism is false, and indeed
some philosophers think so. They rather think that blah blah.... If they were right about
this, my position would in fact be wrong. However, these philosophers are not right
because blah blah...”.

Bear in mind that this is only a suggestion, and there are many other ways of structuring
your answer. What matters is offering a good, convincing argument. And for so doing
you have to take into account the views and arguments studied in the course which are
relevant for your position.

*k%k

Finally, let me make two more points that apply to all the questions in the exam:

-Do not confuse an author's views with the things | say in class in order to explain
those views. For instance, when explaining Hume's compatibilism | use the example of a
child who is surprised to see her father crying. That is not an example that Hume himself
uses. That is an example that / use in order to explain the view. Do not attribute it to Hume!
That sort of mis-attribution is evidence that you did not read Hume's text carefully.

-Do not attempt to write everything you know about the topic! Be concise, and select
the information that is relevant. Writing everything you know is not a good way of showing
that you know a lot. It only shows that you have good memory storage, and that you spent
some time filling it. | want to be shown that you understand the views and arguments, and
that you are able to apply them in solving the tasks posed by the questions.

*k%k

Ok. We are now ready to look at last year's exam. Here you have it:



Primer examen parcial de la asignatura Pensamiento en la Cultura Angléfona
Apellidos: Nombre:
You may answer in Spanish, Valencia, or English. Your language choice will not affect the evaluation.

QUESTION 1. Explain briefly and with your own words the contents of TEXT 1. You may make reference
to ideas of the author that do not feature in the text (or to ideas of other authors) provided that those ideas are

relevant for explaining what the author is saying in this text. (2.5 points)

QUESTION 2. Explain briefly and with your own words the contents of TEXT 2. You may make reference
to ideas of the author that do not feature in the text (or to ideas of other authors) provided that those ideas are

relevant for explaining what the author is saying in this text. (2.5 points)

QUESTION 3. Imagine that, in the near future, medical and biological science develop so much that human
life-expectancy increases radically. In fact, you will live for at least 230 years, and therefore you will not die
before 2242. However, as time passes, you start loosing your memories, and by year 2110 you can't
remember that you took this exam today. Do you agree or disagree with the following claim? Justify your
answer. (2.5 points):

About a situation like the one described Locke would have said that in 2110 I am no longer the same man
that I am now.

QUESTION 4. Do you agree or disagree with the following claim? Justify your answer. (2.5 points)

My choice to register in the English Studies program was already fixed or determined ten years ago, and
therefore my decision to register was not free.

TEXT 1

I shall farther add, that, after the same manner as modern philosophers prove certain sensible
qualities to have no existence in Matter, or without the mind, the same thing may be likewise
proved of all other sensible qualities whatsoever. Thus, for instance, it is said that heat and cold are
affections only of the mind, and not at all patterns of real beings, existing in the corporeal
substances which excite them, for that the same body which appears cold to one hand seems warm
to another. Now, why may we not as well argue that figure and extension are not patterns or
resemblances of qualities existing in Matter, because to the same eye at different stations, or eyes
of a different texture at the same station, they appear various, and cannot therefore be the images
of anything settled and determinate without the mind? Again, it is proved that sweetness is not
really in the sapid thing, because the thing remaining unaltered the sweetness is changed into
bitter, as in case of a fever or otherwise vitiated palate. Is it not as reasonable to say that motion is
not without the mind, since if the succession of ideas in the mind become swifter, the motion, it is
acknowledged, shall appear slower without any alteration in any external object? (Berkeley,
Principles, 14).

TEXT 2

(...) the essences of the sorts of things, and, consequently, the sorting of things, is the workmanship
of the understanding that abstracts and makes those general ideas.

(...) They are the workmanship of the understanding, but have their foundation in the similitude of
things. I would not here be thought to forget, much less to deny, that Nature, in the production of
things, makes several of them alike: there is nothing more obvious, especially in the race of
animals, and all things propagated by seed. But yet I think we may say, the sorting of them under
names is the workmanship of the understanding, taking occasion, from the similitude it observes
amongst them, to make abstract general ideas, and set them up in the mind, with names annexed
to them, as patterns or forms, (...) to which as particular things existing are found to agree, so they
come to be of that species, have that denomination, or are put into that classis. (Locke, Essay,

3.3.12 and 3.3.13)



That was not so difficult! Or was it? We are now going to examine some sample questions
from the students of the course 2011-12. But before that, let us discuss briefly each of the
four questions:

Q1: in this fragment, Berkeley argues against the distinction between primary and
secondary qualities that "modern philosophers”, such as Locke, made. Berkeley
understands these philosophers as saying this: primary qualities exist independently the
mind, secondary qualities do not. (This is perhaps not the best understanding of what
Locke says, but this is how Berkeley understands him.) Berkeley argues that the kind of
reasons that lead this philosophers to say that flavors or temperatures (which they take to
be secondary qualities) do not exist without a perceiving mind, are also good reasons for
thinking that shape and motion (which they take to be primary qualities) do not exist
without a perceiving mind. So, Berkeley concludes, the distinction between primary and
secondary qualities is ill-conceived.

A good answer to this question should take into account the following points: (a) that
Berkeley is arguing against Locke's distinction between primary and secondary qualities;
(b) that Berkeley's conclusion is that all qualities exists only in the mind; (c) how Berkeley
argues for that conclusion.

Q2: A good answer to this question should take into account the following points: (a) Locke
presents his views on classification, which are generally at odds with Aristotelian
essentialism: the essences or sorts of things are a product of human classificatory
practices; (b) in the second part of the passage, Locke acknowledges that those practices
are shaped by some objective patterns of similarity that exist in Nature, independently of
any human practice.

Q3: This question is about what Locke would have said about a particular situation. There
is a trick: the question has to do with Locke's view on man-identity, not with his view on
personal identity. You have to say if you agree or not with the italicized claim, and argue
for your answer. Your argument here must allude to Locke

Q4: This question is about free will. Again, there is a trick: the italicized claim seems to
assume (by using the expression "therefore") that freedom is incompatible with
determinism. A good answer is expected to identify this fact, and to clarify the situation. It
is expected that a good answer to this question makes reference to Hume's compatibilism,
although it is not absolutely indispensable.

Ok, now let's see what people did...
Here is an example of a nice answer to Q1, from student #1.
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Here is how student #1 answered Q2, also getting close to 100% of the score
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-In lines 3-4, the student makes
reference to Aristotelian
essentialism, showing that
s/he has the background that
is required for understanding
the main issue in the
passage. S/he also explains
what Aristotelian essentialism is,
not taking for granted that the
reader will know it. Good!

-Also in these first few lines, the
student makes reference to a
specific part of the fragment
(first paragraph). S/he is clearly
addressing the passage, not
talking about Locke in
general.

-Notice that the student does
not attempt to say everything
s/he knows about Locke. S/he
brings up elements that are not
explicitly mentioned by Locke in
the passage, but all of them are
relevant for explaining the
content of the fragment.

-Of course, there are many
aspects in which the answer
could be better. For instance,
the student does not go far
enough in explaining the text
with his/her own words. In the
last few lines, s/he follows
Locke too closely and does not
give examples of his/her own.

Let us now have a look at the anwer that student #2 gave to Q1
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Everything the student #2
says about Berkeley is
more or less ok. S/he does
know the basics of
Berkeley's philosophy. But
s/he is not answering the
question at all! S/he is not
telling us what Berkeley
says in this passage. So
s/he does not show us that
she really understands the
passage. S/he only shows
that s/he was able to learn
a speech (un “rollo”) about
Berkeley that s/he would
reproduce as an answer to
any question about
Berkeley, never mind what
the question is. Perhaps
learning this speech took
time and effort, and a
generous marker may
choose to reward it with
some minor score. A strict
marker would probably
give 0 points. After all, #2
is not answering the
question




Let us look at a third sample, the answer from student #3
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Positive things about
this answer:

-Unlike what happens with
#2's answer, this one
addresses the passage
in question. In the first
few lines, it does describe
some general issues of
Berkeley's views that are
not strictly necessary to
explain the content of the
fragment, but the student
makes an effort to relate
the general issues to
what's going on in the
fragment.

-#3 makes some effort at
explaining the fragment
with his/her own words,
although much more could
have been done.

Negative points:

-It is clear that the student
did not really
understood the main
point of the passage.
S/he does not mention the
main issue: that Berkeley
is arguing against Locke's
distinction between 1° and
2° qualities, and offering a
particular argument
against the distinction.
-The explanation of
Berkeley's view is not
clear and precise
enough

Let us now discuss different answers to Q3. This is what student #1 did:
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Positive points:

-There is a clear
statement of the
student's position right
at the begging. S/he
starts by saying: "l
disagree". Good.

-As it is clear from the
beginning, #1 got the trick
of the question: the
question was about man-
identity, not about
personal-identity.

-The question is about
what Locke would have
said about the
hypothetical case
described. So #1's initial
position is precisely about
this: about what Locke
would have said. And,
correspondingly, #1's
justification for holding
that position mainly
involves what Locke
thought about these
issues




This is the answer given by student #4, who did not do so well with this question:
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-Look at how the answer
starts. The student does
not start by clearly
stating his/her position.
Not good. #4 jumps to
arguing but the reader
wonders: "does #4 agree
or disagree with the
claim? What is the view
that s/he is arguing for?"
We can guess what
her/his position is, given
what s/he says next. But
this is not good enough.
Do not make the reader
guess! Tell the reader
explicitly what your
position is, and do so
right at the beginning.

-The first paragraph
makes clear that the
student has some notions
that are relevant for the
question (like the
distinction between man
and person), but the
explanations s/he offers
are not clear enough, and
are not presented as
justification of a
previously stated position
on the question.

-If you now look at the
last part of the answer,
you will notice that much
of what the student says
here, even if true, is not
relevant or not clearly
connected to the
question. Or at least, s/he
does not make clear what
the connection is.

Just one more, from student #5
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-This is a very poor
answer that did not get
off the ground. It makes
a very serious mistake: it
wrongly assumes that
there is a quotation
from Locke here. But
where? There is no
quotation at all, only a
claim about what Locke
would have said about
an hypothetical situation.
This kind of mistake was
found in other students
who offered more
complete answers and
showed evidence of
understanding the topic.
But such a gross mistake
makes any possible
virtue fade away...




Ok. Let us finish by considering answers to Q. 1. Let us see what #1 did
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-Notice that this time, the
position is not so clearly
stated at the beginning.
S/he says "no comparto”,
but here s/he is talking
about a point of view that
s/he takes to be
presupposed by the
claim, not about the claim
itself.

-A good point here is that
in defending his/her view,
the student makes
reference to some of the
arguments discussed in
class and by the authors
we were reading.

-However, and this is the
weaknesses of the
answer, the student does
not go far enough in two
directions: (a) in
explaining what the
arguments that s/he
mentions are --s’he
presupposes that the
reader knows these
arguments and that
mentioning them will be
enough, no need to
explain. Do not do that!
Always explain. (b) in
arguing for his/her views.
The student tells us only
very briefly why s/he is
not convinced by the
arguments for
determinism. S/he needs
to explain more, consider
what a proponent of the
arguments could say in
their defense, etc

Here is another quite good answer, by student #6:

GLVTC O iV vy

| disagree woith e following . cloim becouase
Jrhc,\k es My choice do rechsler
haoue Q\fﬂO% oeen Qryed len years
5\4\\ @ fee decisven,
Hume 's  Compa diilism N Whick
be ‘olh delemined and free! A (oouild & Mok . o
flume's deiatkon of & free ocfion | Lowidi iy on gckon dlual
flowb ok @% m Lhm&ld&(‘) I\ was o Qee olion do

Mmd% 0(505\(\ beul.L\SQ v oo o\wcxup
(?,CL 8

| coou\ah &

i tha Cn?'b&h Slaoe s Progian
ago bul W& oy

n ‘\\M-S cose | coauld &“@@ do cefec do

|

Qsrgues oh aclion g can

been Wilaresled - lon

Fooge

ond 6 close [hends  uwhno knows rsonall -
L. i howe %uessw! doedt 1wl ML’K Engdigh,

\w&[)fo havd . \dore ouer
years oo Sememmer. |

in Lol

Vb Mo also have been  delis minedl Hon

o?/oun reﬁewmg do Huoee = b}/ i

LvitoOnmennt- Vogrews we | how ) houe locewn, (

-Here you have a good
positioning right at the
begging. The arguments
coming next are coherent
with the position taken at
the beginning.

-As it is clear at the end,
the student got the trick:
s/he saw that the claim
presupposes that free will
and determinism are
incompatible, and that
this is a controversial
assumption.

-The student connects
his/her argument with
Hume and compatibilism.
His/her answer is
appropriately informed by
the readings and
discussions held during
the course
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-Notice how the student
uses Hume's theories.
S/he relies on them for
stating her argument.
S/he makes a clear
connection between
these views and her own
argument. These views
are put to the service of
the student's main
argument. They are not
presented by their own
right.

-Just to mention one
weak point: the reasons
offered of why his/her
decision was determined
are not too original, and
there are others that
could have been
mentioned. Also, the
student does not consider
potential objections to
his/her view. Considering
potential objections, and
replying to them, is a very
good way of boosting
one's argument

Let us consider a final answer
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-Oops! Very serious
mistake right at the
beginning. Which claim
belongs to Hume's
theory? What you have in
the question is a claim
that obviously was not
made by Hume! And you
are being asked your
opinion about it. In
answering, you may
mention Hume, but no
claim here is by Hume.
(There are other miss-
attributions in the answer)

-There is a clear
positioning, but it is at the
second paragraph and
not where it should be
(right at the begging).

-The most important
problem, though, is that
the student does not
really argue for his/her
views -or not forcefully
enough. S/he tells us
what s/he believes, but
not why she does so, or
why we should agree with
him/her. Philosophy is not
just about stating your
opinions, it is basically
about arguing for them,
making an effort at
showing that they are
true.




